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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iit)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

61/6/1

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — questions number 31 to 33 are Source-based questions having
three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Assume you visit a museum and find a Harappan seal depicting a bull.
What might this suggest about Harappan beliefs and practices ?

(A)  Bulls were considered important for protection.
(B)  Bulls were associated with warfare with Oman.
(C)  Bulls were considered as the symbol of wealth.
(D)  Bulls were usually used in agriculture.

Who among the following was an ex-army Brigadier and Director General
of the Archaeological Survey of India in 1944 ?

(A)  John Marshall (B) R.E.M. Wheeler
(C) Alexander Cunningham (D) S.N. Roy
Page 3 of 23 P.T.O.
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3. A a1 s, AR (A) HR FROT (R) few ¢ & | seht earEeh 9fer SR el
forehed =1 =g hIfS

37frme (A) - T T , M TOTTT ST SUANT &7 3T IdT T o fore fomam Strar
or |

FRU(R) . T T sfataare sers off, fSaw weh & i 5 foare i s1mfa 7= of |

ﬁ'alv_('q:
(A) 3R (A) 3T FHROT (R) SHT Gt & 3T R0 (R), ANTHAT (A) 6T Tl
ST AT € |

(B) @ik (A) 3R RO (R) 391 @l &, W R0 (R), AMhaT (A) I
e 1T T8 HaT © |

(C)  HNTHT (A) &l 8, g FRT (R) 70 ¢ |
(D) AT (A) T 8, T R (R) 62T 2 |
4.  FAfaRead & & st i o dev 1 foww 3w st qg=m hifeg :
(A) ST, HETE, Yo fueeh
(B) g fues, Afvraw fuesh, fama fues

(C)  AIMHTISHT, HETAIT, STaeh Hal=ar

(D) IrEHE 9, g fuesh, fomy fuesh
5.  TETYRA © G &9 [ 3 & 11 8 e shiiTe 3R we forshed i == i |

Y/ @y 1l
(=) (4fFF)
a. {Iﬁl‘%? i. uieal Y Hrar
b. YA ii. T h! AT
c. ol iii. qigal 1 SIS A
d. Ty iv. g o foar
IEET IR
(A)  a-ii, b-iv, c-iii, d-i (B)  a-iv, b-iii, c-ii, d-i
(C)  a-iii, b-iv, c-i, d-ii (D)  a-i, b-iii, c-iv, d-ii
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Two statements labelled as Assertion (A) and Reason (R) are given below.

Read them carefully and select the correct option :

Assertion (A) : In ancient India, Gotra system was a way to trace lineage.

Reason (R) :

Gotra was an exogamous unit, marriage within the same

Gotra was not allowed.

Options :

(A)

(B)

©)
(D)

(A)
(B)
©)
(D)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Find the odd one out from the following regarding the Buddhist texts :

Dipavamsa, Mahavamsa, Sutta Pitaka
Sutta Pitaka, Abhidhamma Pitaka, Vinaya Pitaka

Ashokavadana, Mahavamsa, Jatakas

Uttaradhyayana Sutta, Sutta Pitaka, Vinaya Pitaka

5. Match Column I with Column II and choose the correct option with

reference to Mahabharata.

C.

d.

Column I
(Character)

Yudhisthira
Dhritarashtra
Kunti
Gandhari

Options :

(A)
()

61/6/1

a-ii, b-iv, c-iii, d-i

a-iii, b-iv, c-i, d-ii

Column 11
(Role)
i.  Mother of the Pandavas

ii. Mother of the Kauravas
iii. Eldest of the Pandavas

iv. Father of Duryodhana

(B)  a-iv, b-iii, c-ii, d-i

(D) a-i, b-iii, c-iv, d-ii

Page 5 of 23 P.T.O.
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6. TmfaRad STHeRT T G=RAT ¥ UT=i WA o I8 hi = hifsTy ;
o I YU § HeTH TR T |
o  TT FHAT HI HEHA IS T HI& T |
o 3ok AN W AT o T AT o |

%IT*T'C[ :
(A)  =FI=I (B) &qI
(C) e (D) HHN

D D

(B) 9RATY
(D) IR

A

T :  HEICTRIA Y97 SHae GroaTiera qerTiera & 1o1g Y3 G&aT 7 % T WE |

[ S e N e

freferiad o o fore TSTaST & TSTT 37311eh ohT GsieT o 2
A) T (B) HH

)

(C) Hrdqdred (D) H=<

8. 357 SIqqT o WA Y hl AT IcaTaeh T qrT ?
frfTad # & HaTae HRUT hi TE= HITT :
(A) et SR el i T
(B) et AR gwelt ferarm
(C)  qa awi 3K firgt <ht qurer
(D) 3N firgt ok =g yorredt
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6. Identify the ruler of ancient India with the help of following information :

e He was the most powerful of the Gupta rulers.
e He was a patron of art and Sanskrit literature.
e He was considered equal to the Gods by his people.

Options :
(A) Chandragupta (B) Samudragupta
(C)  Srigupta (D) Kumaragupta
7. In reference to the picture provided below, where is the lion capital of the
Ashoka Pillar located ?

(A) Lumbini (B) Sarnath
(C) Bodh Gaya (D)  Kushinagar

Note : The following question is for Visually Impaired Candidates only, in lieu of
Q. no. 7.

Which of the following dynasties did King Ashoka belong to ?
(A)  Gupta (B) Maurya
(C) Satavahana (D) Nanda

8. Why did Ibn Battuta find Indian agriculture very productive ?
Identify the most appropriate reason from the following :
(A)  Lack of pests and insects
(B)  Skilled and experienced farmers
(C)  Year round rainfall and soil quality
(D)  Fertile soil and irrigation system

61/6/1 Page 7 of 23 P.T.O.
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11.

12.
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el A Ferfor Aok ot sret fomrm | efit st sreatienss H=IaTSl & SN H T8 SR
AT RN 8 2

(A) I STt Toh SATHRRTA 33 & foame wad o |

(B) 3= SATSMI 3N FHRIE! o Hew T et faaT |

(C) I $var 3R = o i<l Ueh UQTshives Teiel ohi 71T |
(D) o Sear Tl H forgamel wed o |

frefaRad & & fosr s o e § sH-|1 e a8 € 2

(A) oS aTHTS S weET 133 STaTedt # giEt o gry i e o |
(B) TaS=TR, 38T 37 ATHTST ST T AT o |

(C)  IT |IHTST 1A TR ST ATGAT o sfi=r Al §377 o7 |

(D) 159 vramedt # fosER Weet # aed T |

TV 1 1 &G 11 8 e HIfST K g=t faene st == hifsie |

&y J &y 17
(97TCT GTHTS & SR GHaTY) (171)

a gafraﬂ i,  JAEeR

b. AR ii. froam

c. WX i, Tl

. g% iv. St

IEETCE

(A)  a-iv, b-iii, c-ii, d-i (B)  a-ii, b-iii, c-i, d-iv

(C)  a-ii, b-i, c-iii, d-iv (D)  a-i, b-iii, c-ii, d-iv

frefeaRad 5 & Feored T o1 Fert HEwqul ANE™ HiF-91 & ?
(A) 3= o AT &1 foear for |

(B) 3-8 WA YT shi f=f=r07 H T |

(©) &= T A1 32 r=hie @ |

(D) IR AR HfST SamT |
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Kabir emphasized ‘Nirguna Bhakti’. What does this concept imply about
Kabir’s spiritual beliefs ?

(A)  He believed in a personal God with attributes.

(B) He emphasized the importance of rituals and ceremonies.

(C) He advocated for a hierarchical relation between God and humans.
(D) He believed in the oneness of God.

Which of the following is the correct statement regarding Vijayanagara
Empire ?

(A)  The Vijayanagara Empire was founded by Harihara in the 13th century.
(B) Vijayanagara was the name of both, city and empire.

(C)  The empire stretched between rivers Kaveri and Tungabhadra.

(D) Vijayanagara fell to ruins in the 15t century.

Match Column I with Column II and choose the correct option.

Column I Column II
(Community during Mughal Empire) (Role)
a. Muzarian 1. Accountant
b. Patwari ii. Peasant
c. Majur iii. Labourer
d. Shroff iv. Banker
Options :
(A)  a-iv, b-iii, c-ii, d-i (B)  a-ii, b-iii, c-i, d-iv
(C)  a-ii, b-i, c-iii, d-iv (D)  a-i, b-iii, c-ii, d-iv

Which of the following is the most important contribution of Krishnadeva
Raya ?

(A) He expanded the Vijayanagara Empire.
(B) He subdued the Mughal rulers.

(C) He kept the military control flexible.
(D)  He built the Thanjavur temple.

Page 9 of 23 P.T.O.
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14.

15.

16.

17.
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frefetiad 7 & 37T gedl & e & 9 2
(A) TS qgge fordt

(B) i@ e iferan

(€) gy forwdlt

(D) ¥ HUGEH Tiel-T-31eHT

frefarfiad =t e sa o safterd iy SR @ forehed w1 == hifvT
I. TR | THIET ST ht I

II. YR 3768 AA-TssTeh shi AT

III. R H 357 Sl ol A

IV. 9RA ¥ 3Ta-foret bt e

IEETC R
(A) I IL IV, III (B) IL, I, II1, IV
(C) IV, II1, 11, I (D) I IV,II, 1

frforfiaa o waiwe faerea & T Tom st qid Hifs :
Y T forfesT TR 4 1875 B sitrsl 37 gaeh | 3% 3fear ot Y

WfHreT 37T STTfh Tk o Sirer o forg &t of |
A) g (B)  oehd ST AT
(C)  uiwdt fdre (D) freaifearwse

TR ® 9 h-81 1859 H SIS g1 Ut “GRETHT ST ol TTaeT 781 o 2

(A)  HEHR AR I o i< LA SOTos (7€) 6l 9@t i a9 it |

(B) I T 363 GHY o | SATS] o Hod ol Sirel oheAT o |

(C) ETEHRI R Qi o sfie Tedsh i a9 H RO (1) i Tell=1hd fhar S
T |

(D) i ot forenforat o &9 § SHI a1 ATfelehT g o feam T |

IS IaY & HT ALY RN KT FRd I 2 F=fefaa & @ ot fashes w1 ==M
Fifer :

(A) Y T TSI eI i o o T |

(B) 3794 o HYE GHTEAT Sl I & o |

(C) T o wlerHT T ot =7 Asteld ot o T |

(D) SIS 1 W& A § 9= 07 s o fow |
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13. Who among the following was the mentor of Amir Khusrau ?
(A) Khwaja Muinuddin Chishti
(B)  Shaikh Nizamuddin Auliya
(C)  Shaikh Salim Chishti
(D)  Shaikh Fariduddin Ganj-i Shakar

14. Arrange the following in chronological order and choose the correct
option :
I Visit of Francois Bernier in India
I1. Visit of Abd al-Razzaq in India
ITII.  Visit of Ibn Battuta in India
IV. Visit of Al-Biruni in India

Options :
A  LILIV,III (B) IL LI IV
(© IV, ILII I (D) IILIV,II I

15. Fill in the blank with the appropriate option from the following :
The was established by the British government in 1875 to
investigate the economic distress and role of East India Company in
Bombay and the Deccan.

(A)  Regulating Act (B) Deccan Riots Commission
(C)  Fifth Report (D)  Pitts India Act

5

16. Which of the following was not the provision of the ‘Limitation Law
passed by the British in 1859 ?

(A)  The loan bonds signed between the money-lenders and ryots would
have validity of three years.

(B) The law was to check the accumulation of interest over time.

(C) The money-lenders and ryots used to renew the bonds after every
three years.

(D)  Ryots were given permanent stakes in land as interlopers.

17. Why were the British keen to annex the territory of Awadh ? Choose the
correct option from the following :

(A)  To suppress the nationalist movement in Awadh.
(B) To get access to Awadh’s rich resources.

(C)  To strengthen their control in the west in India.

(D) To enhance British military control in Central India.

61/6/1 Page 11 of 23 P.T.O.
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18. Fmafafed 4 @ fieym & 38 T a1 it we=m Hifg fem 1857 & fomie 4

ToREITHIT ShT ST St ST cdl foRaT |
(A) SR B) fofE®sz
(C) T (D) e fliw

19. Y11 &9 1 9 fie hifsre ot w=t foshed o1 =9 hifsio |

WYl v 1l
() (qf7F)

a. Bt i. STHTGERT Tadsar U

b. S.uH. et ii. sa @ forfesT amodt

c. SiTSl AT iii. AT o1 ThHIHTT

d. wiue ueet iv. Toraam 61 Sadsrar g

%Eh_(’q .

(A)  a-iii, b-ii, c-iv, d-i (B)  a-iv, b-iii, c-i, d-ii

(C)  a-iii, b-iv, c-ii, d-i (D)  a-iv, b-ii, c-iii, d-i

20. UM 1 1929 AR Hfeaw T Hewul o1 ? Feffad § & w2 foehe w1 =
FifST :

(A) o s & fog (B) IS & €Y o forg
(C) Tl 3 A o forg (D) e TR fog

21. f=fafaa 9 @ d@feem g i gaesr afbfa & Tarsa 92
(A) TERYA (B) AT 8%
© et (D) it o i
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From the following identify, the local leader of Singhbhum who led the
cultivators to join the Revolt of 1857.

(A) Shah Mal (B) Birjis Qadr
©) Gonoo (D) Kunwar Singh

Match Column I with Column II and choose the correct option.

Column 1 Column I1

(International Leaders) (Role )
a. Ho Chi Minh 1. American war of independence
b. J.M. Garibaldi 1. British withdrawal from India
c. George Washington 1ii. The unification of Italy
d. Clement Attlee 1v. Struggle to free Vietnam
Options :
(A)  a-iii, b-ii, c-iv, d-i (B)  a-iv, b-iii, c-i, d-ii
(C)  a-iii, b-iv, c-ii, d-i (D)  a-iv, b-ii, c-iii, d-i

Why was the 1929 Lahore Session of Congress significant ? Choose the

correct option from the following :
(A)  For Purna Swaraj (B)  For British alliance

(C)  For Gandhiji’s leadership (D)  For Rowlatt Act

Who amongst the following was the leader of the Advisory Committee of
the Constituent Assembly ?

(A) Sardar Patel (B) Jawaharlal Nehru

(C) G.B.Pant (D)  Gopal Krishna Gokhale
Page 13 of 23 P.T.O.




X e KX

LCLCRCH
(FTI-37 TR o T9) 6x3=18
22. (F) WM 9RA H gueEl R aHue § d@iares, abr g e ST are e
g i | 3
YT
(@) TN I § 0T sgaeT o FRI1 sh1 T sa % Tofg ST g 37U Y
formel i aient <hl v <hifsTe | 3
23.  TSTETIHAT shl HTfHeh HI=IATHA! X QUIr(oal oh for=iml 2l same #hifsry | 3
24. (F) T IRA H AT o SR SAE GRT G 6l 78 FeeaforTi, stretrerrensh sagiy
IR fria =T fergersor hifsTe | 3
T
(@) <357 ST o JArdl § 36 T o AT THTS 3hT TEweqUl SR e § 17
39 U I FTHETT IS | 3

25. “fasamm # fogar wiew stot ot aregeRen % fAT ST ST o 17 39 e

ATV Tl SATEAT it | 3
26. 1924 ¥ 1928 e A Al WA TSHITT H 76 Ticferfert st o shifs | 3
27. ATl e i fohel i foreraret st avie i | 3

Qug T
(STE-ITT TR o T97) 3x8=24
28. (F) TG I AU GHA o GeTH THTERITAT R1&Fhi § & Teh HHT ST AT |” §6 HH
TeRTST | IehT fRrerrey sht s Hifer | 8
rT
(@) 9Tl T | GIioren féq e oAt fereroarait sht smedn <hifse | 8
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25.

26.

27.

28.
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SECTION B

(Short-Answer Type Questions) 6x3=18

(a) Examine the duties to be performed by Kshatriyas as codified in
Dharmasutras and Dharmashastras in the ancient India.

OR

(b) Examine any three ways evolved by Brahmanas to enforce the
norms of the Varna order in the ancient India.

Explain the views of archaeologists on the religious beliefs of the
Harappans.

(a)  Analyse the observations, critical insights and reflections provided
by Bernier while he travelled in Mughal India.

OR

(b)  “Ibn Battuta’s accounts provide important insights into the Indian

society of that time.” Justify the statement.

“The Vitthala temple of Vijayanagara was known for its unique
architecture.” Explain the statement with examples.

Examine the major activities of Gandhiji in Indian politics from 1924 to
1928.

Describe any three features of the Ryotwari system.

SECTION C
(Long-Answer Type Questions) 3Ix8=24
(a) “The Buddha was considered as one of the most influential

teachers of his times.” In the light of this statement, explain his
teachings.

OR

(b)  Explain the features of Puranic Hinduism in ancient India.

Page 15 of 23 P.T.O.
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29. (F) “TA Hioh QIS H AT shT fHeRT HEwqUl o |7 ITTEXT I T 36 Ho
T ST HifS | 8

AYAT

(@) “3757-T-3FeR! T HTHTST I Teh STATETT SEATSIST @ |7 ISTE01 3 g 36

U ol AT FHIT | 8

30. (F) g A TSAT F s o o s G WAL T & TS o =i 1 IuiT
i | 8

areraT

@) Hius 9§ JaRierd B g IR TEa B Sgad &I T Juid

e | 8
LCLERo)
(FTa-SATHTRA T9) 3x4=12
31. ToUITEA I AT TIGT S 6k A1 [T T T % I 31T : 1+1+2=4
TAT <A ST

So i fEes § A9 wWEE % 8 a9 W RY A IeM Rl
(ST Tearelt Igrar) W forsrr ST 1 |

6 AT YN i [HhTRAd fora Trm; weh o HR 1T 31K 368 it SareT <hl ey &5 |
T T ITEA T1UT A o TG ST €V o TTe- STEH, €7 o TIE 3 97 o
YR H G UL |

2T QAT o foTq shfcit st fosar s qommama 2 |

QAT % oY 718 wga dedrerE R Hedfa @ for st 18 forelt Tsar W fos o
AT 2 AT IS T T & 8IdT ©, J&f T AR STd 8, fsshifad fere sma € |

(31.1) TS AT forgedt it spich fas 3 3ok 3meH o givehior &t fohe T

EEIECREDI R 1
(31.2) ST forsr 3 =i o Ui TS & SR Al fohdt TehI sraet feam 2
(31.3) TSIT o REcH = €7 o ST 3 R Teh ST fo=am 2 2
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(a) “The role of women in the Mughal agrarian society was
significant.” Explain the statement giving examples.
OR

(b)  “The Ain-i-Akbari is an extraordinary document of the Mughal
Empire.” Explain the statement giving examples.

(a)  Describe the views of the members of the Constituent Assembly on
division of powers between the Centre and the States.

OR

(b)  Describe the ideals expressed in the ‘Objectives Resolution’ by
Jawaharlal Nehru in the Constituent Assembly.

SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that follow :

1+1+2=4

The Anguish of the King

When the king Devanampiya Piyadassi had been ruling for eight years,
the (country of the) Kalingas (present-day coastal Orissa) was conquered
by (him).

One hundred and fifty thousand men were deported, a hundred thousand
were killed, and many more died.

After that, now that (the country of) the Kalingas has been taken,
Devanampiya (is devoted) to an intense study of Dhamma, to the love of
Dhamma, and to instructing (the people) in Dhamma.

This is the repentance of Devanampiya on account of his conquest of the
(country of the) Kalingas.

For this is considered very painful and deplorable by Devanampiya that,
while one is conquering an unconquered (country) slaughter, death and
deportation of people (take place) there...

61/6/1

(31.1) How did king Devanampiya Piyadassi’s conquest of Kalinga
influence his approach to governance ?

(31.2) How did Kalinga’s conquest change the king’s actions towards his
subjects ?

(31.3) How did the king’s transformation shape the spread of Dhamma ?

1
2
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32. AU E I emgEes ufey I 39 A fau 1T F & I Y ; 1+1+2=4
ITE e FEATRR
TE G0 ! U & ST ¥ FsipE siforn it @ente § 1313 | g8 He1 1 aui
FATR :

T (ST e st sreet forer oft fof & Ser (RSmpee shiferam) sed < we...
36 T U T I & S ST Sgd | S 1 9ET @ HIed Hi 6 B |
AT & 3o T o T SR F streavaen aeqe osft € | 9ok 3 7% o |1 fore @
o o sl SR ST T SAUAT 89 Ed ©: “58 STHIA, ©d 3 sl 31 73t T it
2. TR IS T STEATCH T& 9 LG T W 8] 16T |”

TR 381 Uk 3 Tl GATS ... god™ TRTE S 36 99 3T @ o 41 8 ST
ST o, I FOGEN & et 11T | SEH TG ol F ST 31 = et i gt 9
fohaT | o SEamTl o foTq o 3R S 3@ o 39§t o g off | J6d gU
IG-3TA-SEAT (FUGEM) o el J o < &1 § g0 el | siie G, 0 SEl deh Sl
% U2 T 9T © 39 39 AN o6l 2 & 57 SAhl smran 2,17

(32.1) TSI = ¥Rg TISTHE 3ftfera st s fearm 2 1
(32.2) T = W % Tg &+ W $HT HTA HT AT H0T foam 2
(32.3) =1 sht wfcifshan gehl geai ol fore Tehr ferfoiford st @ 2 2
33. U Ed I eamgEes ufey I 5w e fau 1Ty o I e 1+1+2=4
ATeeTehaTl shl e

ACAHRER o6 T ! TFSLAT o ITE TR FHIATHeRT o TSI Sa=d 14e o dad 3=t
TE =T ToRaT o1 | fo5ie & S gaw g 5 T SIS STHER &l 018 &f 3R 39
T T T TR o7 | 36 STHE § SRR TATHIA H STa= 148 o el 1ok AT,
T Geoh o AT SHIL o1 H HATT 3 I8 SHI USSRl WS AT | 31T STHE !
et R Set-forer & SR & wrferser Y St s 2 | O S ek § ST W et
T STHIA T B T | H <9 T | T = SATIeRT S Fad X 8 T | 9 % A
19 flgel 338 We BY | e AT W U A1, 578 A9 wraie fopam o1 | 37 SAmeht
ST 98 € | Afehd 3791, 37a & 370 uTieai 1 <ot Tas ST 38T § dioh TTTeh! o%
HEIE Hh |
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32. Read the given source carefully and answer the questions that follow :
1+1+2=4

Declining a royal gift

This excerpt from a sufi text describes the proceedings at Shaikh
Nizamuddin Auliya’s hospice in 1313 :

I (the author, Amir Hasan Sijzi) had the good fortune of kissing his
(Shaikh Nizamuddin Auliya’s) feet ... At this time a local ruler had sent
him the deed of ownership to two gardens and much land, along with the
provisions and tools for their maintenance. The ruler had also made it
clear that he was relinquishing all his rights to both the gardens and
land. The master ... had not accepted that gift. Instead, he had lamented:
“What have I to do with gardens and fields and lands ? ... None of ... our
spiritual masters had engaged in such activity.”

Then he told an appropriate story: “... Sultan Ghiyasuddin, who at that
time was still known as Ulugh Khan, came to visit Shaikh Fariduddin
(and) offered some money and ownership deeds for four villages to the
Shaikh, the money being for the benefit of the dervishes (sufis), and the
land for his use. Smiling, Shaikh al Islam (Fariduddin) said: ‘Give me the
money. I will dispense it to the dervishes. But as for those land deeds,
keep them. There are many who long for them. Give them away to such

persons.”

(32.1) What did the ruler offer Shaikh Nizamuddin Auliya ? 1
(32.2) What reason did the Shaikh give for refusing the land deeds ? 1
(32.3) How does the response of the Shaikh reflect the Sufi values ? 2

33. Read the given source carefully and answer the questions that follow :
1+1+2=4

What taluqdars thought

The attitude of the talugdars was best expressed by Hanwant Singh, the
Raja of Kalakankar, near Rae Bareli. During the mutiny, Hanwant Singh
had given shelter to a British officer, and conveyed him to safety. While
taking leave of the officer, Hanwant Singh told him:

Sahib, your countrymen came into this country and drove out our King.
You sent your officers round the districts to examine the titles to the
estates. At one blow you took from me lands which from time immemorial
had been in my family. I submitted. Suddenly misfortune fell upon you.
The people of the land rose against you. You came to me whom you had
despoiled. I have saved you. But now — now I march at the head of my
retainers to Lucknow to try and drive you from the country.
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(33.1) Ba=q fdE 7 JHUSI o T ST ST & e forarm 2 1
(33.2) &Ta= &8 7 9[fH o AT Tohl et 2
(33.3) Ba= f4E o1 Ho ATCIHAR ohl HISHTSAT hl HH T & 2 2
CLESS
(AT FrT- ST o) 3+2=5

34. (34.1) WA  fow e Torfes T (I8 23 W) ¥, Frafafad # v foEt
T foha SIfTT TR 37 9 ferfae 3x1=3
(i) I — Teh forhfer gguar Toet
(i) THTET — Sg T
(i) (F) TR — T & TefT &t
YT
(i) (@) AT — A o T &

(34.2) WA o 3T TSHIdeh WET-AMHT 9 1857 o 10 ferfest fsor & srefim ar
TIMT I A 3R B & 2Afsha foham mar 8 | 39t e AT 31 37 ot

T 3o fHene Gt 78 et X fafau | 2
e :  FEfTiaa e Faa gigariera qheniorat & fog o7 Gea1 34 % T We |
(34.1) TSRIA H Ueh YNUa U1 €A T Ioeid hIfSIT | 1
(34.2) 3T JGX T<T | Ueh sllg, T T AT ST | 1
(34.3) () 3T WRA % forsll o &1 T Socid ShIfSTL ST {7l o 0T 7 o | 1
SreraT
(34.3) (W) W YRA % forell WEwIqul R T 919 STy | 1
(34.4) <A o AT TAT3 ST 1857 o SR fsrfesr o fizor 4 o | 2
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34.

Note :

61/6/1

(33.1)

(33.2)
(33.3)

(34.1)

(34.2)

X e KX

How did Hanwant Singh express his dissatisfaction towards the
British ?

Who did Hanwant Singh refer to as “the people of the land” ?

How did Hanwant Singh’s statement reflect the sentiments of
the talugdars ?

SECTION E

(Map-Based Questions) 3+2=5

On the given political outline map of India (on page 23), locate

and label the following with appropriate symbols : 3x1=3

(i)  Lothal — A Mature Harappan site
(i1) Amravati — A Buddhist site
(iii) (a) Agra — A territory under the Mughals

OR
(iii) (b) Panipat — A territory under the Mughals

On the same political outline map of India, two places which
were under the control of British during 1857 have been marked
as A and B. Identify them and write their names on the lines
drawn near them.

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1)
(34.2)
(34.3)

(34.3)
(34.4)

Mention one mature Harappan site in Gujarat.
Name one Buddhist site in the state of Andhra Pradesh.

(a) Mention any one territory which was under the control of
Mughals in Northern India.

OR
(b) Name any important town of ancient India.

Name two places which were under the British control during
1857.
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For question no. 34

WA T IW@T-THE (TR )
Outline Map of India (Political)
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